



ELSEVIER

Journal of Computational and Applied Mathematics 142 (2002) 435–439

JOURNAL OF
COMPUTATIONAL AND
APPLIED MATHEMATICS

www.elsevier.com/locate/cam

Short communication

Integral representations of the Riemann zeta function for odd-integer arguments

Djurdje Cvijović, Jacek Klinowski *

Department of Chemistry, University of Cambridge, Lensfield Road, Cambridge CB2 1EW, UK

Received 26 March 2001

Abstract

We deduce four new integral representations for $\zeta(2n+1)$, $n \in \mathbb{N}$, where $\zeta(s)$ is the Riemann zeta function.
© 2002 Elsevier Science B.V. All rights reserved.

MSC: primary 11Axx; secondary 11A05

Keywords: Riemann zeta function; Integral representation

1. Introduction

The Riemann zeta function $\zeta(s)$ is defined for $\text{Re } s > 1$ as [1, p. 807, Eq. 23.2.1]

$$\zeta(s) = \sum_{k=1}^{\infty} \frac{1}{k^s}. \quad (1)$$

Recall that there exists a formula which expresses $\zeta(2n)$, $n \in \mathbb{N}$, as a rational multiple of π^{2n} . However, there is no analogous closed evaluation for $\zeta(2n+1)$, which is usually given by the integral representation

$$\zeta(2n+1) = (-1)^{n+1} \frac{(2\pi)^{2n+1}}{2(2n+1)!} \int_0^1 B_{2n+1}(x) \cot(\pi x) dx \quad (2)$$

[1, p. 807, Eq. 23.2.17] involving the Bernoulli polynomials $B_n(x)$, or by various series representations. By making use of elementary arguments, we will derive (2) and several related integral representations for $\zeta(2n+1)$. Three of the four integrals involved cannot be found in [3] or [2].

* Corresponding author.

E-mail address: jk18@cam.ac.uk (J. Klinowski).

2. Statement of the results

Throughout the text $B_n(x)$ and $E_n(x)$ are the Bernoulli and Euler polynomials [1, p. 804, Eq. 23.1.1]

$$\frac{te^{tx}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad |t| < 2\pi, \tag{3a}$$

$$\frac{2e^{tx}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} \quad |t| < \pi. \tag{3b}$$

We also use [1, p. 807, Eqs. 23.2.19, 23.2.20 and 23.2.21]

$$\eta(s) = (1 - 2^{1-s})\zeta(s) = \sum_{k=1}^{\infty} (-1)^{k-1} \frac{1}{k^s}, \tag{4a}$$

$$\lambda(s) = (1 - 2^{-s})\zeta(s) = \sum_{k=0}^{\infty} \frac{1}{(2k + 1)^s}, \tag{4b}$$

$$\beta(s) = \sum_{k=0}^{\infty} (-1)^k \frac{1}{(2k + 1)^s}. \tag{4c}$$

Our results are as follows.

Theorem 1. Assume that n is a positive integer and that $\delta = 1$ and $\frac{1}{2}$. Let $\zeta(s), \eta(s), \lambda(s)$ and $\beta(s)$ be defined as in Eqs. (1) and (4), respectively. Let $B_n(x)$ and $E_n(x)$ be the Bernoulli and Euler polynomials given by Eqs. (3a) and (3b), respectively. We then have:

$$\zeta(2n + 1) = (-1)^{n+1} \frac{(2\pi)^{2n+1}}{2\delta(2n + 1)!} \int_0^\delta B_{2n+1}(t) \cot(\pi t) dt,$$

$$\eta(2n + 1) = (-1)^{n+1} \frac{(2\pi)^{2n+1}}{2\delta(2n + 1)!} \int_0^\delta B_{2n+1}(t) \tan(\pi t) dt,$$

$$\lambda(2n + 1) = (-1)^n \frac{\pi^{2n+1}}{4\delta(2n)!} \int_0^\delta E_{2n}(t) \csc(\pi t) dt,$$

$$\beta(2n) = (-1)^n \frac{\pi^{2n}}{4\delta(2n - 1)!} \int_0^\delta E_{2n-1}(t) \sec(\pi t) dt.$$

Note 1. Observe that the existence of the above integrals is assured, since the integrands on $[0, \delta]$ have only removable singularities. To demonstrate this, we need some basic properties of $B_n(x)$ and

$E_n(x)$. For instance, knowing that the odd-indexed Bernoulli numbers B_n are zero [1, p. 805, Eq. 23.1.19], we have

$$\begin{aligned} \lim_{t \rightarrow 1/2} B_{2n+1}(t) \tan(\pi t) &= \lim_{t \rightarrow 1/2} \frac{B_{2n+1}(t)}{\cos(\pi t)} = \lim_{t \rightarrow 1/2} \frac{(2n+1)B_{2n}(t)}{-\pi \sin(\pi t)} \\ &= (1 - 2^{1-2n})(2n+1)B_{2n}/\pi \end{aligned}$$

since $B_n(1/2) = (2^{1-n} - 1)B_n$ [1, p. 805, Eq. 23.1.21].

Note 2. The integrals for $\zeta(2n+1)$ and B_{2n} when $\delta = 1$ are well known [1, p. 807, Eqs. 23.2.17 and 23.2.23], but are included for completeness. These two integrals for $\delta = \frac{1}{2}$ are given in [4, Eqs. 10 and 10']. However, we have been unable to find the remaining integral representations in the literature.

3. Proof of the results

First, we will show that

$$\sin(2kx) \cot x = 1 + \sum_{j=1}^{k-1} \cos(2jx) + \sum_{j=1}^k \cos(2jx), \tag{5a}$$

$$\sin(2kx) \tan x = (-1)^{k-1} + \sum_{j=1}^{k-1} (-1)^{k-1-j} \cos(2jx) - \sum_{j=1}^k (-1)^{k-j} \cos(2jx), \tag{5b}$$

$$\frac{\sin(2k+1)x}{\sin x} = 1 + 2 \sum_{j=1}^k \cos(2jx), \tag{5c}$$

$$\frac{\cos(2k+1)x}{\cos x} = (-1)^k + 2 \sum_{j=1}^k (-1)^{k-j} \cos(2jx). \tag{5d}$$

Indeed, starting from

$$2 \sin x \cos(2mx) = \sin(2m+1)x - \sin(2m-1)x$$

we have

$$2 \sin x \sum_{j=1}^k \cos(2jx) = \sin(2k+1)x - \sin x$$

and formula (5c) follows without difficulty. On setting $x = t + \pi/2$ we obtain formula (5d) from (5c).

Further, knowing that

$$\sin(2kx) \cot x = \frac{1}{2} \left[\frac{\sin(2k + 1)x}{\sin x} + \frac{\sin(2k - 1)x}{\sin x} \right],$$

$$\sin(2kx) \tan x = \frac{1}{2} \left[\frac{\cos(2k - 1)x}{\cos x} - \frac{\cos(2k + 1)x}{\cos x} \right],$$

we have (5a) and (5b) from (5c) and (5d), respectively.

Next, we need the following Fourier expansions for the Bernoulli and Euler polynomials [1, p. 805, Eqs. 23.1.17 and 23.1.18]

$$B_{2n+1}(x) = \frac{(-1)^{n+1} 2(2n + 1)!}{(2\pi)^{2n+1}} \sum_{k=1}^{\infty} \frac{\sin(2k\pi x)}{k^{2n+1}}, \tag{6a}$$

$$E_{2n}(x) = \frac{(-1)^n 4(2n)!}{\pi^{2n+1}} \sum_{k=0}^{\infty} \frac{\sin(2k + 1)\pi x}{(2k + 1)^{2n+1}}, \tag{6b}$$

$$E_{2n-1}(x) = \frac{(-1)^n 4(2n - 1)!}{\pi^{2n}} \sum_{k=0}^{\infty} \frac{\cos(2k + 1)\pi x}{k^{2n}}, \tag{6c}$$

where $n = 1, 2, 3, \dots$ and $0 < x \leq 1$.

Finally, the formulae proposed in the Theorem are obtained from the expansions in Eq. (6) in conjunction with the identities in Eq. (5) and the definitions in Eqs. (1) and (4). For instance,

$$\begin{aligned} (-1)^{n+1} \frac{(2\pi)^{2n+1}}{2(2n + 1)!} \int_0^\delta B_{2n+1}(t) \tan(\pi t) dt &= \sum_{k=1}^{\infty} \frac{1}{k^{2n+1}} \int_0^\delta \sin(2k\pi t) \tan(\pi t) dt \\ &= \delta \sum_{k=1}^{\infty} (-1)^{k-1} \frac{1}{k^{2n+1}} = \delta \eta(2n + 1). \end{aligned}$$

Observe that inverting the order of summation and integration is justified by absolute convergence. This completes our proof. \square

4. Concluding remarks

We deduce the following representations for $\zeta(2n + 1)$, $n \in N$:

$$\zeta(2n + 1) = \frac{(-1)^{n+1} (2\pi)^{2n+1}}{2\delta(1 - 2^{-2n})(2n + 1)!} \int_0^\delta B_{2n+1}(t) \tan(\pi t) dt,$$

$$\zeta(2n + 1) = \frac{(-1)^n \pi^{2n+1}}{4\delta(1 - 2^{-(2n+1)})(2n)!} \int_0^\delta E_{2n}(t) \csc(\pi t) dt,$$

where $\delta = 1$ and $\frac{1}{2}$.

References

- [1] M. Abramowitz, I. Stegun (Eds.), *Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables*, Dover Publications, New York, 1972.
- [2] I.S. Gradshteyn, I.M. Ryzhik, *Table of Integrals, Series, and Products*, Academic Press, New York, 1980.
- [3] A.P. Prudnikov, Yu.A. Brychkov, O.I. Marichev, *Integrals and Series*, Vol. 3, Gordon and Breach, New York, 1990.
- [4] H. Schmidt, *Bayer. Akad. Wiss. Math.-Natur. Kl. S.-B.* (1972, Abt) 11 (1973) 87–99.